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	Let	A = Matrix Key
		- dimension:  22
		- random numbers
	B = Message (Original)
		- dimension:  2n
	C = Message (Coded)
	A  B

A-1  A  B
B 
	=

=
=
	C

A-1  C
A-1  C
	Encode the Original w/ Key

To decode, multiply by the Inverse (of the Key)



EX)	Message:			 M E E  T    M E    @  7  P  M  .
Unencoded Message:		13|5|5|20|0|13|5|0|28|43|16|13|49




A  B =  =  = C

Encoded Message:	13|61|91|52|26|111|5|39|127|187|124|52|235|15

To decode, find  A-1.




B = A-1  C = =

Match numbers to characters:	13 = M, 5 = E, 5 = E, 20 = T, 0 = Space, etc…


Encode the following messages.  Use  A = .
1)	ABORT MISSION.		Unencoded Message: 							




A  B =  = 

	Encoded Message: 										


2)	RENDEZVOUS @ K-MART!	Unencoded Message: 							




A  B =  = 

Encoded Message: 									
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Decode the following messages.  Use  A = .

3)	-32|-30|-6|-42|-38|0|88|90|18|126|114|0




A-1 = 		B = A-1  C = 	 

      = 	Decoded Message: 						


4)	-2|-38|0|-24|-2|-28|-8|-10|-8|-98|0|25|103|5|60|10|71|27|37|25|245|8




A-1 = 		B = A-1  C = 	 

      = 	Decoded Message: 						


5)	-16|-10|0|-12|-24|-18|-32|-38|-18|-8|-10|-98|59|30|5|30|85|60|101|95|60|34|25|265




A-1 = 		B = A-1  C = 	 

      = 	Decoded Message: 						
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